नव मेंगलोर पत्तन प्राधिकरण / NEW MANGALORE PORT AUTHORITY सिविल एंगिनीरिंग विभग / DEPARTMENT OF CIVIL ENGINEERING अनुरक्षन प्रभाग — I / MAINTENANCE DIVISION-I

कोटेशन /QUOTATION No.5/303/CIVIL/Mtc-I/2023-TS dated 17.05.2023

निम्नलिखित कार्य के लिए प्रतिष्ठित एवं अनुभवी ठेकेदारों या फर्म से प्रतिशत दर के आधार पर मुहरबंद कोटेशन आमंत्रित किए जाते हैं:

Sealed quotations are invited on percentage rate basis from the reputed and experienced contractors for the following work;

कार्य का नाम;

! वीडीसी ऑडिटोरियम में आयोजित होने वाले स्टेक होल्डर्स के साथ शिपिंग सिचव की बैठक की व्यवस्था

Arrangements for the Meeting of Shipping Secretary with the Stake Holders" to be held at BDC Auditorium,

! Rs.72,160.50
! Rs.705.00
! Rs1705.00
! 24.05.2023
! As & when required for 1 day programme

The quotation shall be dropped in the tender box placed in A.O. building ground floor on or before 3.00 P.M. on **24.05.2023** and will be opened at 3.30P.M on the same day in the presence of the bidders or their authorised representatives. The BOQ, specification and other particulars are enclosed. The NMPA reserves the right to accept or reject quotation without assigning reasons thereof.

The Earnest Money Deposit shall be paid through NEFT/RTGS in favour of FA&CAO, NMPA and copy of the NEFT/RTGS receipt shall be enclosed along with the quotation. The benefit of exemption of EMD to all Micro and Small Enterprises (MSE) shall be allowed. The proof of being MSE registered with District Industries Centers (DIC) shall be enclosed. The quotation without copy of receipt of RTGS/NEFT/Certificate will not be entertained.

NMPA Bank Details for remittance of Tender fee and EMD.

- 1. Name of the Bank: State Bank of India, Panambur, Mangalore 575 010.
- 2. Bank A/C No. 10205649448
- 3. IFSC Code: SBIN0002249
- 4. MICR Code: 575002011

The Contractor shall write the percentage rate in figures as well as in words clearly in the enclosed BOQ. The percentage rate quoted shall be inclusive of labour, tool and plants, transportation, machinery etc. complete. GST will be reimbursed as applicable. Payment will be made after satisfactory completion of work and applicable taxes will be recovered from the bill.

The Contractor shall submit the quotation accompanied with covering letter on bidder's letter head having GST/Pan. The offer submitted should be open for acceptance for a period of 90 days from the date of opening the same. The successful bidder shall execute an agreement/undertaking in the prescribed form on a stamp paper of required value and sign all the pages of the contract form including Plan(s) enclosed to the same.

कार्यकारी अभियंता (सिविल) / Executive Engineer (Civil), खरखाव प्रभाग-I / Maintenance Division-I,

नव मेंगलोर पत्तन प्राधिकरण / NEW MANGALORE PORT AUTHORITY सिविल एंगिनीरिंग विभग / DEPARTMENT OF CIVIL ENGINEERING अनुरक्षन प्रभाग —I / MAINTENANCE DIVISION-I कोटेशन/QUOTATION No.5/303 /CIVIL/Mtc-I/2023-TS dated 17.05.2023

BILL OF QUANTITIES

कार्य का नाम: बीडीसी ऑडिटोरियम में आयोजित होने वाले स्टेक होल्डर्स के साथ शिपिंग सचिव की बैठक की व्यवस्था

Name of work: Arrangements for the Meeting of Shipping Secretary with the Stake

Holders" to be held at BDC Auditorium

SI No	Description of items	Qty	Unit	Rate in Figures	Amount Rs. Ps.
1	Hire charges for Providing and fixing decorative cloths, screen on the inner walls and o stage backdrop of the Auditorium, with clean cloths, fixed in a nice pattern and of required colour and removing & taking away the same after the function, cost shall be inclusive of hire charges, labour, transport, T&P etc. all complete		Sqm	66.00	9,570.0
2	Hire charges for arranging armed chairs with cloths at the venue including cost of conveyance of all materials, labour charges, fixing charges and all other incidental charges etc complete	300.00	No	35.00	10,500.00
3	Hire charges for Providing and laving decorative mat on the stage covering the entire area and on he either side entrance to the stage and fixind tapes at the joints, laying in such a way so as to form a symmetric pattern and removing & taking away the same after the function including cost of conveyance of all materials, transportation, labour, etc. all complete.	75.00	Sqm	46.20	3,465.00
30 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Shifting and reshifting sofa sets, flower pots, tables mats etc from nursery, A.O.Building, JNC hall to BDC building and placing in proper locations, including cost of labour, mini truck, etc. all complete, as directed by the Engineer.	2.00	Day	4783.00	9,566.00
1	Hire charges for Providing and fixing table cloth of suitable size, with frills on the front side, including cost of conveyance of all materials, transportation, etc. all complete.	3.00	No	120.00	360.00

6	Decorating the entrance door with	2.00	No	2000.00	4,000.00
	natural flowers and decorative cloths as per the pattern and colour combination as suggested including cost of conveyance of all materials, transportation, etc. all complete.				= 8
7	Decorating the SS handrails of the BDC building with Tri-coloured cloth, with frills in uniform pattern including cost of conveyance of all materials, transportation, etc. all complete.	115.00	RM	82.50	9,487.50
8	Floral decoration with natural flowers to the podium, table bouquet and the stage including cost of conveyance of all materials, transportation, etc. all complete.	1.00	LS	2500.00	2,500.00
9	Providing and fixing flex banner at entrance gate of size 44' x 2.5' printing on the flex material as per design and matter provided by the department, fixing to the frames, fixed to the poles using necessary fittings as directed by the Engineer and taking away the MS frames, poles etc complete, handing over all the banners including cost of all materials, transportation, labour, T&P all complete.		Sqm	800.00	8,000.00
10	Providing and fixing flex banner of size 10' x 5' printing on the flex material as per design and matter provided by the department, fixing to the frames, fixed to the poles using necessary fittings as directed by the Engineer and taking away the MS frames, poles etc complete, handing over all the banners including cost of all materials, transportation, labour T&P all complete.		No	2343.00	9,372.00
11	Hire charges for arranging round plastic tables with cloths at the venue including cost of conveyance of all materials, labour charges, fixing charges and all other incidental charges etc complete	e f g	No	170.00	2,040.00
12	Hire charges for arranging VIP chair on the dias at the venue including cost of conveyance of all materials, labour charges, fixing charges and all other incidental charges etc complete	t r	No	550.00	3,300.00

	72,160.50				
ADD:	%()			
Above the estimate amount put to quotation. Rs.					
LESS:	% ()			
Below the estimate amount put to quotation			Rs.		
			Total Amount Rs.		
Rupees					

Note: GST will be reimbursed as applicable

SIGNATURE OF THE CONTRACTOR